Midterm; Finance 5360; Fall 2007

Name ___________________________________


Note: For all problems requiring calculations, you will only earn points for setting up solutions. You will not earn any points for calculating or solving anything. “Setting up solutions” means writing down the appropriate equation or equations and plugging in as many numbers as possible. For later steps in multi-step problems, you can plug in unsolved variables...variables you have set up to solve but have not actually solved. 
Example: X = (2 + 3)3.5; Y = X/7.31.

Short Answer (15 points each)

1. Which organizational forms give their owners limited liability?

Use the following information to answer short-answer questions 2 and 3. For both questions use a “+” to indicate an increase (inflow) and a “-” to indicate a decrease (outflow).
Jelda Systems Inc is considering purchasing machinery this year for $50 million. The machinery will be depreciated by $10 million per year for 5 years beginning next year. Jelda’s marginal tax rate is 35%.

2. How will the cost of the machinery impact Jelda’s earnings this year and next year?
3. How will the cost of the machinery impact Jelda’s cash flow this year and next year?
4. What is the value of any asset that trades in a competitive market?

5. What is an example of a transaction cost you would pay to trade securities?
6. The nominal return on a savings account was 5% over the past year.  What information would you need and how would you use this information to estimate the real return on this account over the past year?

7. For what reasons would you expect the yield to maturity on a bond issued by Ford to be higher than on a bond issued by the U.S. Treasury?  Assume the bonds have the same maturity and coupon rate.
8. Based on the following probability distribution, what is the expected return on JeeEee Light Bulbs Inc.?
Return
Probability

0.35
15%


0.10
65%


-0.15
20%

9. Given the following quarterly returns, calculate the annual realized return on Oracle Eye Glasses Inc. if we assume all dividends were reinvested.  
Quarter
Return

1
-3.4%


2
+5.8%


3
+8.7%


4
+9.8%

10. As a result of CountiGroup selling one of its divisions, you expect that the standard deviation of returns on CountiGroup to rise but you expect its beta to fall. If you are correct, should the expected return on CountiGroup rise, fall, or remain unchanged, or is it unclear what will happen to CountiGroup’s expected return?
Problems (75 points each)

1. Assume that securities A through D provide risk-free payoffs as follows:  


Cash Flow in: 

Security
Price today
One Year
Two Years
Three Years

A
95.552
100
0
0

B
91.754
0
100
0

C
87.959
0
0
100

D
525.000
200
200
200
Assume that you determine that that arbitrage is possible because the price of D is too low.                                                                                                                                                       
a. What trades would allow you to take advantage of this arbitrage opportunity? Note: the trades should create an arbitrage profit for you.
b. What cash flows will your trades in part “a” generate today and at the end of each of the next 3 years?

2. You are considering buying a bond with a 15-year maturity that has a face value of $1000 and a coupon rate of 8% (semi-annual payments).  What cash flows would you pay and receive from your investment if the yield to maturity on the bond is 6% now and 7% when you sell it 2 years from today (just after a coupon is paid)?  Note:  be sure to indicate when cash flows occur starting with today and to use a “+” for inflows and a “-“ for outflows.
3. You have just deposited $50,000 into a savings account that pays an APR of 7.5% with monthly compounding. You plan to use the account to make semiannual withdrawals with your 1st withdrawal coming 4 months from today and your final withdrawal coming 4 years and 4 months from today. How large can you make your first withdrawal if you plan for your semiannual withdrawals that grow by 1.5% each after the first withdrawal?
4. aTiT Phones is considering building a new factory for $3,000,000 to produce aPhones.  The new factory would be depreciated on a straight-line basis of $600,000 per year for each of the next 5 years (starting next year).  Expected sales of aPhones are expected to vary by year as follows:  1st year = $4,000,000; 2nd year = $5,000,000; 3rd year = $5,500,000; 4th year = $4,500,000; and 5th year = $2,500,000.  Production costs are expected to equal 75% of sales.  Inventory is expected to equal 15% of each year’s sales and accounts payable are expected to equal 5% of each year’s sales.  aTiT’s cost of capital is 14% and its tax rate is 35%.  What is the factory’s free cash flow and EVA four years from today (during the 4th year)?
